Algebra 2 4.5 Ser Q % -
Solve quadratic equations by using the*Square’ Root property

Solve quadratic equations by completing the square
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quadratic

square root

EWE

perfect square number

perfect square trinomial

completing the square (method)



Practice

3. Find the value of ¢ that makes x* — 14x + 5 a perfect square. Then write the
trinomial as a perfect squ are.
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Solve by CTS
X2 - 14x + 25 Oas
Build a peFFect square (if it isn't one already)
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Example 6
Solve x2 + 8x + 22 = 0 by completing the square.
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W8 +1e = _a34e o
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6A. x2+2x+2=0



6B. x2—6x+25=0
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How is this problem different?
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23. x2—-3x+>=6
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Big picture: fractions preferred
(trust me)



How is this problem different?




5A. 3x2 4+ 10x — 8 =
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